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PART A: Vocabulary

1- What was intended as a peaceful demonstration rapidly into violence.

1) agitated 2) degenerated 3) preceded 4) discriminated
2-  The Democratic Party 70 percent of the vote.

1) garmered 2) esteemed 3) obligated 4) assembled
3- Some animals can -—- very high temperatures.

1) detach 2) submit 3) obstruct 4) withstand

4- Researchers have discovered that up to one half of all children borm of alcoholics are

genetically to alcoholism.

1) discerned 2) apprehended 3) predisposed 4) impressed
5- Communication via the Internet gives an important to international trade.

1) dimension 2) exposure 3) expenditure 4) distribution
6- Lack of childcare facilities can be a major for women wishing to work.

1) dispute 2) routine 3).obstacle 4) contraction
7- Itis a common that women are worse drivers than men.

1) essence 2) impetus 3) fallacy 4) amusement
8- The for using this teaching method is to encourage student confidence.

1) advent 2) rationale 3) authenticity 4) constitution
9-  The degree of punishment should be to the seriousness of the crime.

1) inclined 2) receptive 3) prominent 4) proportional
10- Low inflation is the key to --—-——--- economic growth.

1) sustained 2) congruous 3) extravagant 4) well-disposed

| Directions: Read the following passage and decide which choice (1), (2), (3), or
L (4) best fits each space. Then mark the correct choice on your answer sheet.

Commonwealth of Nations is an international organization composed of independent states,
all of which were part of the British Empire. It was constituted by the Statute of Westminster,
(11) ===emmemms the British Dominions were recognized as ‘autonomous communities®, (12) =------
the British Crown. Since 1947, when India chose (13) ---------- within the Commonwealth, it
has consisted of an inereasing number of republics, so that the role of the British monarch, who
is the head of only seventeen (14) -—--—---- a total of fifty-three member states, is confined
(13) - head of the Commonwealth. Given that its member states have little in common
apart from a historical tie to the UK, it has rarely been able to influence world affairs, except
perhaps for its leadership on the international imposition of sanctions upon South Africa.

11- D)so 2) which 3) so that 4) in which
12- 1) binding together 2) bound together by
3) together having bound 4) having bound together
13- 1) to remain 2) remaining 3) for remaining 4) to be remained
14- 1) by 2) out of 3) within 4) outside
15- 1) for 2) to who 1s 3) to that of 4 that she is
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| Part C. Reading Comprehension

| Directions: Read the following two passages and choose the best choice (1), (2), (3) or
| (4). Then mark it on your answer sheet.

PASSAGE 1:

Scientists have grown clean carbon nanotubes directy onto a disc surface. The creation of
these ultra microelectrodes, which are 25-100p in diameter, could be used for extremely
sensitive sensors,

Researchers used catalysed chemical vapour deposition (cCVD) to grow single-walled
nanotubes on insulating silicon oxide (Si0,) surfaces. The surfaces were covered with a

catalyst material, such as iron, and placed in a quartz tube running through a furnace. The
substrate was then heated to between 775 and 900°C, while hydrogen was passed over it. At its
peak growth temperature, a carbon source such as methane was introduced to the tube for five
minutes, and then the system was left to cool. The resulting nanotubes were grown in an even
and controlled manner, allowing them to overlap and create a single metallic microcircuit
across the surface of the Si0,.

Where is the most likely application of clean carbon nanotubes?

1) In creation 2) In diameter 3) In sensors 4) On disc surfaces
Which method has been used to grow these tubes?

1) Catalysis 2) CVD assisted by a catalyst

3) Insulation of silicon dioxide 4) Catalysed and chemical vapour deposition
Which chemical reaction is responsible for the deposition of carbon onto the substrate?
1) Heating of quartz 2) Thermal decomposition of methane

3) Reaction between hydrogen and iron 4) Reaction between hydrogen and methane

How can deposited nanotubes form a single metallic microcircuit?

1) By growing in an even '

2) By leaving the system to cool

3) By growing in a controlled manner

4) By overlapping and ‘covering the whole surface

What happened to the surface prior to putting it in a silica tube?

1) It was heated up 2) It was put inside a furnace.
3) It was covered with a catalyst. 4) It was subjected to hydrogen.
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PASSAGE II:

Researchers have optimised a nanocomposite material to create less bulky and invasive
artificial heart valves. They say this is particularly useful for children, as the material is said to
be flexible enough to be implanted into the body using a catheter, rather than surgery.

The prototype valve, made from silicon-based biocompatible polymer polyhedral oligomeric
silsesquioxane (POSS), has undergone extensive in vitro testing. Clinical trials are planned
within the next two years.

The material has superior properties for cardiovascular applications. They tested many
commercial polymers and none performed as well.

The material is grafted with polycarbonate urethane to create a flexible polymer that has high
tensile strength (50 MPa) and viscoelasticity (61.2 MPa at break) to replace natural heart
valves.

Where have the scientists tested the artificial valve so far?

1} In the vitro

2) In children’s hearts

3) In children’s chest cavities

4) Outside patients’ bodies in experimental conditions

How is the new valve designed to be implanted into the body?

1} By a catheter 2) By being flexible _3) By patients 4) By surgery
Which features have the scientists had an eve on when selecting a suitable material for the
valve?

1) Biodegradability

2) Optimization of nanocompaosite materials

3) Superior properties for cardiovascular applicants

4) Flexibility, high tensile strength, and suitable viscoelastic properties

Which material is the valve made from?

1) Polyhedral oligomeric silsesquioxane 2) Silicon based biocompatible

3) Nanocomposite material 4) Polycarbonate urethane

How does the size of the new valve compare with current valves?

1) It is bulkier 2) It is smaller 3) Itis nano size 4) It is not invasive

Since the working week consists of only 40 Hours, workers have Ample time for
recreation and educational pursuits.

1} hardly any 2) nearly enough 3) plenty of 4} too much

Sound comes in‘'waves, and the higher the frequency —————-,

1) pitch is high 2) higher pitch is 3) the pitch is high 4) the higher the patch
Mare twain, --- , was driven by a desire for money and travel.

1} Although ene of American’s writers

2) One of America’s best known writers

3) As one America’s best known writers

4) He is one of America’s best known writers

Feathers are formed from keratin, which is the same horny material
nails.

1) forms a reptile’s scales 2Y a reptile’s scales forms
3) that forms a reptile’s scales 4) a reptile’s scales are formed

and our own
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